West Coast Uniting Church Council

Membership Average June Attend:
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1 9649 Buller Union Parish 30 2 4 23 1 36 30 of 12 5 16 11
2 9650 Greymouth District Uniting Parish 95 5 5 20 32 7 6 10 10 1 79 56 5[ 30 6 6 4 10 14 2
3 9651 Hokitika South Westland St Andrews United Parish 82 2 2 18 26 2 8 6 18 1 109 80 4 44 4 8 12
4 9652 Reefton District Union Parish * 38 4 5 17 4 5 3 100 33 1| 18 5 14 4 4 7 2
2010 Totals 245 11 14 42 98 13 19 17 31| 0| 0| of o] of of 0] of O 1l 0] 1 o 324 199 10| 104 20 20 16 30 44 4
2009 Totals 247 9 10 27 79 11 9 11 91 2 1 o 336 186 9 128 21 21 4 31 44 4
2010 as % of 2009 99% 122%) 140%| 156%] 124%] 118%| 211%) 155%( 34% 50% 96% 107%(111%|81% 95%| 95%)400%| 97%]100%) 100%

* No statistics were received - Prior Year statistics have been used where available
NOTE: Amendments made to 2009 statistics subsequent to print have now been made
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